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#include

#define

#define ()

#ifdef #else #Hendif
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(int)

sizeof()

printf, scanf

if, switch

for, while, do-while

return, break, continue




void

gets, puts, strlen, strcpy, strcat,

stremp

malloc, free

struct

union




cnum

typedef

FILE *

fopen, fclose

fprintf, fscanf, fgetc, fputc,

fgets, fputs
fread, fwrite
feof, fseek, ftell, rewind
ferror
M N

getchar, putchar

sqrt, sin, cos, fabs, pow, exp, log

srand, rand

exit, system
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() Windows 10
o Visual Studio 2012 Visual C++ CodeBlocks 17.0
Guide 1.0
48 64 20
[1] . —C . .2017
[2] .C . .2010
1 18 17 18
X

A.char id[17];
B. char id[18];
C.char id[19];

D.long id;
C
C
2 7 14 “ yyyymmddn
birth
getBirth id p isIn
min max 1 0

#include <stdio.h>



struct birth
{n
intyear; //

int month; //

int day; /
IR
void getBirth(struct birth *p, char id[])
{/ id p id[6] id[13]

p->year = (id[6]-'0')*1000 + (id[7]-'0")*100 +
(id[8]-0")*10 + (id[9]-'0"*1;

p->month = (id[10]-'0')*10 + (id[11]-'0");

p->day = (id[12]-0")*10 + (id[13]-'0");

}
int isIn(int n, int min, int max)
{/ n [min,max]
if ( @) ) 1
return 1;
else
return 2) ; // 2
}
int main(void)
{
char 1d[80];
S ) - o3
Gets(id);
getBirth( (4) ); /! 4

printf("%d  %d %d 7, b.year, b.month, b.day);
if (isIn(b.month, 1,12) && isIn(b.day,1,31))

printf(” \n");
else

printf(” \n");
return 0;



/1 11010519491231002X 1949 12 31
1 123456789012345678 78900 12 34

1  n>=min && n<=max // 1

0 // 2
struct birth b /1 3

&b,id // 4
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17 18

“ /*_*/11 “ //_11

#include <stdio.h>

int main(void)

{

1/
//

F-NEE VSN 8

char 1d[80];
int w[]={7,9,10,5,8,4,2,1,6,3,7,9,10,5,8,4,2} ; //
char last[]="10X98765432"; // 0 10

int ik, sum=1I; /) 1 0
gets(id);
for (i=0;i<18;i++) /@ 18 17

sum += id[i]*w[i]; / ®id[i]  (id[i]-'0")
k=sum % 11;
if (id[17]==last[k])
printf(” \n");
else
printf(” \n");

return 0;

11010519491231002X
123456789012345678

0
17
(id[i]-°0")

11



12

VS N\

for

18
17
18

| person - iC=A&

“ person.txt” 100

(R #EE((E) B/N(0) EF() FEEIH)

h1010519491231002x
440524198001010013
310115200101010114
53010219200508011x
110105198912150036
110203199310100047
310115201001010010

zhangli
wangxiao
zhaolin
gianli

lilin

lilin

sunli



ik izt HEFE R

11010519491231002x  zhangli 1949F12H31H
440524198001010013  wangxiao 19801 H1H
310115200101010114  zhaolin oFE0HOH
53010219200508011x  gianli 1920F5H8H
110105198912150036 lilin 1989F12H 15H
110203199310100047 lilin 1993&F10H160H
310115201001010010  sunli 20101 H1H
1 4 int idChkBase(char
id[]);
2 3 int idChkLast(char
id[]);
3 2

int chkBirth(struct birth *p); // 1
1900 2099

4 person
struct person
{
char id[20];
char name[20];
struct birthb;
IR

5 “ person.txt” ps

int read(struct person ps[]);//
6 getBirth ps idChkBase
idChkLast chkBirth
0

int chkAll(struct person ps[], int n);//n

13
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int prtAll(struct person ps[], int n);//n



